Electric Height
Adjustable Desk

Assembly Instruction




INTRODUCTION

Thank you for purchasing our products. Please read the instructions
carefully before installation and keep it in a safe place for future
reference. If you need any assistance or support, please feel free to
contact our customer support team.

PRECAUTIONS

1. There are many components and accessories in the package. Each
component and accessory are labeled with a letter or a number, check
carefully before using any of them. Keep them away from children to
prevent accidents.

2. Please install the product on a clean and soft underlay (such as
carpet or cardboard) to avoid scratching or damaging the surface
of the product.

3. The main components of the product are relatively heavy. Please
pay attention to safety during installation.

4. The product is not stable during installation. Please do not move
it randomly before it is completely installed.

5. If you have any questions during installation, please contact the
customer service in time.

* PLEASE BE SURE TO FOLLOW THE INSTALLATION STEPS IN
THE MANUAL TO AVOID UNNECESSARY LOSSES CAUSED BY
IMPROPER INSTALLATION.

* IF YOU NEED FURTHER ASSISTANCE, PLEASE CONTACT THE
CUSTOMER SERVICE ONLINE.



PARTS LIST




M4*40

Ax1 Bx1 Cx2
M6*35 Mé6*13 ST4*16
Dx8 Ex27 Fx2
M6*30 M6*25
Gx8 Hx8 [x4
NG~ | 9 @)
@
\ N
Jx4 Kx2 Lx1

Mx1




STEP 1

I
I
X Install the table legs
When the ground is uneven, the foot |
pad can be rotated to achieve balance.




STEP 2

Insert the hex rod into the slot
hole of the motor in the
direction of the arrow.

The protruding places in the
circle should be on the
same side

Can
x2

M4*40



STEP 3

Insert it into the gearbox on the one side




STEP 4

“7 "and “8" spliced together




STEP 5

—

) o0
° >
©

g a
o i 0
-— b3
e

3 I

Q

o

w

- o N
”._..D xX X
2 ~Yo
©

A




STEP 6

A\ incorrect demonstration




10

STEP 7

“ 5 x2

E
9| W
M13 X4



STEP 8




12

STEP 9




STEP 10




STEP N




15

STEP 12

Bx1



16

OPERATING INSTRUCTIONS

Note: Before using the height-adjustable desk, it's recommended to
perform a reset to ensure that both lift columns are at the same height, as
they may have slight variations from the factory (see OPERATING
INSTRUCTIONS—-Reset).

/O ) Oxﬂ
[/A\] [\f 0as [{][3][3][5:]

A
- 2
o g o o &
UP Key | Display screen | Memory Key 2 Set Key
DOWN Key Memory Key 1

o
Memory Key 3

UP Key - - - -Press and hold the " A" button to raise the desk.

DOWN Key- - - - Press and hold the "~\/" button to lower the desk.

(888 ] Display screen- - - -Press any button to wake up the LED display.

Memory Key 1 .

Memory Key 2 The desk can store 3 memory heights (memory 1, 2, and 3).
Memory Key 3- - - -

Set Key

Reset

Long press the ") key, after running the desktop to the lowest point,
keep holding the "™" key until the screen

flashes " --- " and the buzzer makes a "beep" sound, the screen displays
the lowest height value, and the reset operation is successful.



17

Lift function operation

When the "Al" key is pressed, the desktop runs upwards until it reaches
the highest point of the desktop.

When the " key is pressed, the desktop runs down until it reaches the
lowest point of the desktop.

Memory Position Storage/Memory Location Run

1.Location storage

Press and hold the memory button "[1] " the buzzer will make a "beep"
sound, and the screen will flash "S-1" at the

same time, and the current altitude value will be displayed, and the
memory storage will be saved successfully. A total of 3 heights can be
recorded at the same time (press and hold the memory button "[2]" the
screen flashes "S-2", press and

hold the memory" 31" key , the screen flashes "S-3").

Note: If you set the memory location on the same number key again and
save it successfully, the record storage that was

previously set by the key will be overwritten.

2.Memory position operation

Short press the "[J/2)13)" putton, the display flashes the memory position
height 2 seconds, the desktop automatically runs to the height of the
memory position, and any key can stop running during operation.

3.Lock and unlock

Lock: Press and hold ") + " 4 2] 4t the same time for 5 seconds,
when the display shows " L ", it means that the system has been locked
and cannot lift the system.

Unlock: Press and hold "2 + " + *[2]" at the same time for 5 seconds,
when the digital tube is displayed from "L" to the normal digital display, it
means that the system has been unlocked.



18

Restore factory settings
Method: Press and hold the "2 + ") + (31" puttons at the same time
for 5 seconds, and the screen displays "¢Lr", which means that the
parameter is successfully restored.

Error description
Error codes Description Resolution
. Press the up or down button again, if it still persists, please check the
2 The motor is not connected column motor connection cable
Press the up or down button again, it still persists, please replace the
n
£de Motor overcurrent motor or reduce the load
. Press the up or down button again, it still persists, please check the
EG3  |Motor Hall failure connection or replace the motor
EDY The mains power supply If the cable cannot be eliminated after power failure and reconnection,
- is abnormal replace the power supply
. Reconnect the cable after power failure, if it still can't be removed,
Eos The motor current is abnormal you need to return it to thg factory
s Reconnect the cable after power failure, if it still can't be removed,
EGb  |The motor power device is bad | yo eed to return it to thg factory
Press the up or down button again, it still persists, please replace
n [ "
E03  |Motorstalled the motor or reduce the load
; Wait for the temperature to drop, run for 2 minutes, and stop for
Haol Over-temperature protection 18 minutes
S lllegal power outages Reduce the load or check if the power cable is loose






